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Section : Mental & Reasoning Ability

Q.1 Identify the INCORRECT number in the given number series.
4,7,10, 21, 40, 99, 212
Ans o 1.212
502,99
53,21
X440

Question ID : 1034353438
Status : Not Answered
Chosen Option : --

Q.2 ‘Awl’ is related to ‘Cobbler’ and ‘Chisel’ is related to ‘Sculptor’ in the same way as
‘Anvil’ is related to * "

Ans X 1.Butcher
4" 2. Blacksmith
< 3. Surgeon
25 4. Carpenter

Question ID : 1034353434
Status : Answered
Chosen Option : 2




Q.3 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

Some jims are nests.
Some nests are beams.
All beams are coaches.

Conclusions:

|. Some coaches are nests.
Il. Some beams are jims.
Ill. No beam is a Jim.

IV. Some nests are jims.

Ans X 1. Only conclusions | and Il follow
25 2. Only conclusions Il and I1l follow
# 3. Both conclusions | and IV and either conclusion Il or IlI follow

25 4. Only conclusions Il and IV follow

Question ID : 1034353433
Status : Answered
Chosen Option : 3

Q.4 In arow of people, all facing south, Pallavi is second from the left end. Sathvik is
seventh from the right end. Riya is exactly between Pallavi and Sathvik. If Riya is
fifteenth from the right end, how many people are there in the row?

Ans  # 1.24
X 2.23
X 3.21
X 4.22

Question ID : 1034353427
Status : Not Answered
Chosen Option : --

Q.5 How many such pairs of letters are there in the word STIMULATE each of which has as
many letters between them in the word as in the English alphabet?

Ans X 1.4
X 2.1
%< 3.3
o 4.2

Question ID : 1034353429
Status : Answered
Chosen Option : 4




Q.6 Select the option that is related to the third figure in the same way that the second
figure is related to the first figure.

2[R [1= il -

- @
| {
< | (i

Question ID : 1034353436
Status : Answered
Chosen Option : 2

Q.7 If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’ denotes ‘subtraction’, and ‘D’
denotes ‘division’, then what will be the value of the following expression?
82A126B16D112C 73

Ans X 1.72
o 2.27
K53.52
X 4.25

Question ID : 1034353439
Status : Answered
Chosen Option : 2




Q.8 Ranjanai faces towards the north. Turning to her right, she walks 45 m to reach a
bakery. She then turns to her left and walks 50 m to reach a medical hall. From there,
she walks 45 m to her right. She then turns to her right again and walks 95 m. Finally,
she turns to her right and walks 80m to reach her office. In which direction is she now

from her starting point?
Ans X 1. South

X 2. South-west
«# 3. South-East
5 4. North-west

Question ID : 1034353431
Status : Answered
Chosen Option : 3

Q.9 Select the number from among the given options that can replace the question mark
(?) in the following series.

10, 21, 35, 56, 90, 145, 231, 360,?
Ans X 1.564
% 2.463
o 3.546
X 4.436

Question ID : 1034353437
Status : Answered
Chosen Option : 3

Q.10 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.
q_d_legqm_p_c_mdpl_qg_d_lIc

Ans # 1. m,p,d |, gcmp
X 2.m,pdqg,clpm
X 3.m,qcpdlpm
X 4.m,dpq,l,mep

Question ID : 1034353428
Status : Answered
Chosen Option : 1

Q.11 In a certain code language, 'VALUE' is coded as '222', and 'ORDER’ is coded as '150'.
How will 'RIGHT' be coded in that language?

Ans X 1.219
X 2.146
X 3.164
o 4.73

Question ID : 1034353430
Status : Answered
Chosen Option : 3




Q.12 Four letter-cluster pairs have been given, out of which three are alike in some manner
and one is different. Select the one that is different.

Ans X 1. PHRASE :ESARHP
25 2. HOLDER : REDLOH
" 3. AGENCY : CYNEGA
25 4. INTEND : DNETNI

Question ID : 1034353435
Status : Answered
Chosen Option : 3

Q13 what approximate value will come in place of the question mark (?) in the following equation?

(50.9992 + 35.9892) + 9.001 + 2= 497
Ans X 1. 4016

< 2.4061

«” 3. 4096

X 4. 4069

Question ID : 1034353440
Status : Not Answered
Chosen Option : --

Q.14 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:

All bibs are hats.
Some hats are pistons.
No piston is a mat.

Conclusions:

|. Some bibs are pistons.

Il. Same mats being not hats is a possibility.
lll. No bib is a piston.

Ans X 1. Only conclusion | follows
4" 2. Conclusion Il and either conclusion | or Il follows
25 3. Only conclusions | and Il follow

25 4. All of conclusions |, Il and 11l follow

Question ID : 1034353432
Status : Answered
Chosen Option : 1




Comprehension:
Read the given information and answer the following questions.

Prakul, Divij, Rupak, Sundar, Tarun, Vishak, Wasim and Nayan are sitting around a circle
facing the centre. Tarun is second to the right of Rupak, who is third to the right of Prakul.
Sundar is second to the left of Prakul and fourth to the right of Divij. Nayan is third to the right
of Vishak, who is not an immediate neighbour of Prakul.

SubQuestion No : 15
Q.15 What is the position of Wasim with respect to Vishak?
Ans X 1.Fourth to the left

5 2. Fourth to the right
< 3. Third to the right
«" 4. Third to the left

Question ID : 1034353442
Status : Answered
Chosen Option : 4

Comprehension:

Read the given information and answer the following questions.

Prakul, Divij, Rupak, Sundar, Tarun, Vishak, Wasim and Nayan are sitting around a circle
facing the centre. Tarun is second to the right of Rupak, who is third to the right of Prakul.

Sundar is second to the left of Prakul and fourth to the right of Divij. Nayan is third to the right
of Vishak, who is not an immediate neighbour of Prakul.

SubQuestion No : 16

Q.16 If Divija and Sundar interchange their positions, then what is the position of Prakul
with respect to Divij?

Ans X 1. Immediate right
«" 2. Second to the right
25 3. Immediate left
< 4. Second to the left

Question ID : 1034353444
Status : Answered
Chosen Option : 2

Comprehension:

Read the given information and answer the following questions.

Prakul, Divij, Rupak, Sundar, Tarun, Vishak, Wasim and Nayan are sitting around a circle
facing the centre. Tarun is second to the right of Rupak, who is third to the right of Prakul.

Sundar is second to the left of Prakul and fourth to the right of Divij. Nayan is third to the right
of Vishak, who is not an immediate neighbour of Prakul.

SubQuestion No : 17

Q.17 In which of the following combinations is the first person sitting between the second
and third persons?

Ans X 1. Tarun, Nayan, Sundar
«¥ 2. Vishak, Rupak, Tarun
25 3. Vishak, Tarun, Sundar
25 4. Divij, Rupak, Vishak

Question ID : 1034353443
Status : Not Answered
Chosen Option : --




Q.18

Ans

Comprehension:

Read the given information and answer the following questions.
In a certain code language,

‘X +Y means ‘X is the sister of Y’.

‘X #Y means ‘X is the husband of Y’.

‘X $ Y’ means ‘X is the daughter of Y’.

‘X % Y’ means ‘X is the mother of Y’.

‘X @ Y’ means ‘X is the brother of Y’.

SubQuestion No : 18

IFM@NS$SO#T+US$V#F$ Q, then which of the following statements is NOT
correct?

75 1. F is the mother-in-law of O.

25 2.0 is the son-in-law of V.

< 3. T and U are the maternal granddaughters of Q.
«" 4.V is the paternal grandfather of M.

Question ID : 1034353447
Status : Answered
Chosen Option : 4

Q.19
Ans

Comprehension:

Read the given information and answer the following questions.

In a certain code language,

‘X +Y means ‘X is the sister of Y.

‘X #Y means ‘X is the husband of Y’.

‘X' $ Y’ means ‘X is the daughter of Y’.

‘X % Y’ means ‘X is the mother of Y’.

‘X @ Y’ means ‘X is the brother of Y’.

SubQuestion No : 19

Which of the following expressions denotes that ‘J is the wife of F’?
K1JI%P#K+R%F

X2P$J%R+K%F
KI3IF@QR+K+P%J
W4 J%P+K@RS$F

Question ID : 1034353448
Status : Answered
Chosen Option : 4

Q.20

Ans

Comprehension:

Read the given information and answer the following questions.
In a certain code language,

X'+ Y means ‘X is the sister of Y’.

‘X #Y means ‘X is the husband of Y’.

‘X' $ Y’ means ‘X is the daughter of Y’.

‘X % Y’ means ‘X is the mother of Y".

‘X @ Y’ means X is the brother of Y’.

SubQuestion No : 20

How is N related to V in the given expression?
M@N$SO#T+USV

" 1. Maternal granddaughter
X 2. Paternal granddaughter
X 3. Daughter-in-law

< 4. Daughter

Question ID : 1034353446




Section : Quantitative Aptitude

@1 Find the value of the following expression
Voo B Bl il 0B
2574 X 42. 233 +14 2% 2
X772
Ans e
X1 ==
4
) 5
X2 —
27
; 31
X3 —
24
1
o 4 =
6
Question ID : 1034353449
Status : Answered
Chosen Option : 4
Q.2

Which of the following numbers will completely divide 32% + 326 + 327 + 328+ 3292
Ans %1 12
X2 16
<3 30
¥ 4 33

Question ID : 1034353451
Status : Answered
Chosen Option : 4

Q.3 Inacompetitive exam, the number of those who passed the exam and the number of those who failed are in the

ratio 9 : 1. Had 1400 more candidates appeared. and 1000 more passed, the ratio of passed to failures would have
been 8 : 1. Find the number of candidates who passed the exam.

Ans X1 19600
< 2. 19500
X< 3. 19700
« 4. 19800

Question ID : 1034353457
Status : Answered
Chosen Option : 4




Q.4 There is a flag pole on top of a 25 m high building. From a point at some distance from the building, the angles of
elevation of the foot of the flagstaff and top of the flagstaff are 45° and 60°, respectively. Find the height of the flagstaff

(in m).

A X1 253+ 1)
X2 2542
X3 2543+ 1
v 4 25(v3-1)

Question ID : 1034353461
Status : Answered
Chosen Option : 4

Q.5 Mohan can row a boat 45 km downstream and 22 km upstream in 5 hours. He can also row 60 km downstream and 33
km upstream in 7 hours. How much time will he take to row 30 km downstream and 30 km upstream if while rowing
upstream he could row at a speed slower by 1 km/h due to strong wind in the direction of the stream?

Ans 1. 5h
X2 5h20m
X3 4h20m
X4 4h30m

Question ID : 1034353460
Status : Answered
Chosen Option : 2

Q.6 The sum of two numbers N; and N, is 78 and their product is 1440. Find the sum of LCM and HCF of the numbers N,
and N, .

Ans 1. 246
X2 238
<3 240
X4 248

Question ID : 1034353450
Status : Not Answered
Chosen Option : ==

Q.7 A goods train and a superfast train move in the same direction at the speed of 55 km/h and 85 km/h, respectively, on
parallel tracks. If the goods train is 1.85 km long and the superfast train is 1.25 km long, then find the time taken by the

superfast train to cross the goods train.

Ans  X'1. 5md5s
X2 6m30s
X3 6m
4 6ml2s

Question ID : 1034353459
Status : Answered
Chosen Option : 4




Q.8 The average money donated by 32 students of a class for charity is Z60. When their 2 teachers also contributed 2200
and Zk, respectively, then their average increases by Z 7.50. Find the value of k.

Ans  X1. 182
X2 172
X3 178
« 4 175

Question ID : 1034353452
Status : Answered
Chosen Option : 4

Q.9 Aand B were standing at points P and Q on the opposite sides of a 48 m high tower. The angles of elevation of the top
of the tower from points P and Q were 30° and 60°, respectively. A walked towards the tower and B walked away from
the tower in line with A and the tower to reach points R and S, respectively. The angles of elevation of the top of the
tower from both the points R and S became 45°. Find whether the distance between A and B has increased or decreased
and by how much (in m)?

(Usev/3=173)

Ans X 1. Decreased by 15.2 m
« 2. Decreased by 14.72 m
X 3. Increased by 12 m
X 4. Increased by 15.2 m

Question ID : 1034353462
Status : Not Answered
Chosen Option : --

Q.10 The ratio of the pocket money of Ashok and Vinay becomes 5 : 4 when the pocket money of Ashok was increased by
20% and that of Vinay was increased by 12%. What was the ratio of their pocket money before the increase?

Ans  X'1.11:8
X2 8:7
X36:5
#4 7.6

Question ID : 1034353456
Status : Answered
Chosen Option : 4

Q.11 Inthe month of April, Kusum earned an average of 750 per day. For the first 19 days, her average earning was 700

and for the last 13 days her average earning was Z800. On 1oth April she earned Z100 less than that on 1gth April. How
much did she earn on 19T April?

Ans  X'1. Z540
X2 I525
< 3. 2650
« 4. T550

Question ID : 1034353453
Status : Answered
Chosen Option : 3




Q.12 5 litres of milk was drawn from a milk container and replaced by water. After that, 5 litres of the mixture was drawn
from the container and replaced with water. The ratio of the quantity of milk now left in the container to that of the total
solution is 16 : 25. How much milk (in litre) did the container hold originally?

Ans X 1. 24
2 25
<3 20
X4 30

Question ID : 1034353455
Status : Not Answered
Chosen Option : --

Q.13 The population of the city increased at the rate of 11% every year for the last three years. If the present population is
6838155, then what was the population of the city 3 years ago?

Ans 1. 5000000
X 2..4990400
X 3. 5200000
X 4. 5185000

Question ID : 1034353458
Status : Answered
Chosen Option : 1

Q.14 How much pure alcohol (in ml) must be added to 500 ml of a 12% solution to make its strength 20%?
Ans 1 30

« 2. 50

X3 40

X4 60

Question ID : 1034353454
Status : Answered
Chosen Option : 3

Comprehension:
Read the following passage and answer the following questions.

A microwave oven is marked for 18,000. Vijay bought it with 28% discount on the marked price and sold it by giving
successive discounts of 10% and 5%. Kishore bought a Microwave oven of the same model with 25% discount on the
marked price and sold it by giving 12% discount. The third shop owner gives the same item under an instalment plan.
Under this plan, customers are offered 1026 discount on the marked price and they can take the item by making 25,700
cash down payment followed by 2 equal annual instalments. The shop owner charges compound interest at 10% p.a.

SubQuestion No : 15

Q15 Under the instalment plan, find the amount of each instalment (in %).
Ans  X'1. 6.000

X 2. 6,040

« 3. 0,050

X 4. 6,020

Question ID : 1034353466
Status : Not Answered
Chosen Option : --




Comprehension:

Read the following passage and answer the following questions.

A microwave oven is marked for 18,000. Vijay bought it with 28% discount on the marked price and sold it by giving
successive discounts of 10% and 5%. Kishore bought a Microwave oven of the same model with 25% discount on the
marked price and sold it by giving 12% discount. The third shop owner gives the same item under an instalment plan.
Under this plan, customers are offered 10%6 discount on the marked price and they can take the item by making 25,700
cash down payment followed by 2 equal annual instalments. The shop owner charges compound interest at 10% p.a.

SubQuestion No : 16
Q.16 Amongst Vijay and Kishore who earned more and how much more (in ¥)?

Ans X 1. Kishore, 2112
X 2. Vijay, 2112
« 3. Vijay, 90
X 4. Kishore, 790

Question ID : 1034353464
Status : Not Answered
Chosen Option : --

Comprehension:

Read the following passage and answer the following questions.

A microwave oven is marked for ¥18,000. Vijay bought it with 28% discount on the marked price and sold it by giving
successive discounts of 10% and 5%. Kishore bought a Microwave oven of the same model with 25% discount on the
marked price and sold it by giving 12% discount. The third shop owner gives the same item under an instalment plan.
Under this plan, customers are offered 10% discount on the marked price and they can take the item by making 25,700
cash down payment followed by 2 equal annual instalments. The shop owner charges compound interest at 10% p.a.

SubQuestion No : 17

Q.17 The selling price of Kishore is what per cent higher than that of Vijay? (correct to one decimal place)
Ans XK1, 2.04%

X2 2.85%

o 3. 200
X4 2.8%
Question ID : 1034353465
Status : Not Answered
Chosen Option : --
Comprehension:

Read the following passage and answer the following questions.

A, B and C can do a piece of work independently in 20 days, 40 days and 60 days, respectively. A worked alone for 2
days and then B joined him. After 2 more days C substituted A whereas B and C continued working till the completion
of the work. After the completion of the work the contractor paid Z14,280.

SubQuestion No : 18

Q18 Nfoney received by B is what per cent more than money received by A?
Ans 1. 150%

X2 125%

X 3. 50%

X4 250%

Question ID : 1034353469
Status : Answered
Chosen Option : 1




Ans

Comprehension:

Read the following passage and answer the following questions.

A, B and C can do a piece of work independently in 20 days, 40 days and 60 days, respectively. A worked alone for 2
days and then B joined him. After 2 more days C substituted A whereas B and C continued working till the completion
of the work. After the completion of the work the contractor paid Z14.280.

SubQuestion No : 19

Q.19 IfB had not joined the work, and C joined A after 4 days, after which A and C had continued till the completion of the

work, then in how many days would the whole work have been completed?
2
X1 16-
3

2 16
X3 15

x4 152
2

Question ID : 1034353470
Status : Answered
Chosen Option : 2

Ans

Comprehension:

Read the following passage and answer the following questions.

A, B and C can do a piece of work independently in 20 days, 40 days and 60 days, respectively. A worked alone for 2
days and then B joined him. After 2 more days C substituted A whereas B and C continued working till the completion
of the work. After the completion of the work the contractor paid 214,280.

SubQuestion No : 20

Q.20 Find the difference in the shares of A and C in the amount paid by the contractor after completion of the work (in 7).

« 1. 1,428
X2 1,398
X3 1412
X4 1,380

Question ID : 1034353468
Status : Answered
Chosen Option : 3

Section : General Awareness & Current Affairs

QA1

Ans

Which of the following commissions was appointed to investigate Jallianwala Bagh
massacre, which took place on 13 April 1919?

< 1. Raleigh Commission
< 2. Hartog Commission
«" 3. Hunter Commission

< 4. Stratchy Commission

Question ID : 1034353476
Status : Answered
Chosen Option : 3




Q.2 Which of the following Articles of the Indian Constitution deals with special provisions

Ans

that have been provided to some states?

/< 1. Article 444
#< 2. Article 290
/< 3. Article 356
" 4. Article 371

Question ID : 1034353488
Status : Answered
Chosen Option : 4

Q.3 Dara Shikoh was the son of which of the following Mughal Emperors?

Ans

25 1. Aurangzeb
< 2. Babur

" 3. Shah Jahan
< 4. Jahangir

Question ID : 1034353477
Status : Answered
Chosen Option : 1

Q.4 Tennis player Novak Djokovic belongs to which of the following countries?

Ans

< 1. Siberia
25 2. Slovakia
" 3. Serbia
< 4. Slovenia

Question ID : 1034353491
Status : Answered
Chosen Option : 3

Q.5 Which of the following events happened in 1930?

Ans

# 1. Salt Satyagraha
25 2. Champaran Andolan

< 3. Non-Cooperation Movement

5 4. Kheda Movement

Question ID : 1034353475
Status : Answered
Chosen Option : 3

Q.6 Who among the following has received the Shanti Swarup Bhatnagar Prize for Science

Ans

and Technology 20217
< 1. Dr. Rajeev Roop Roy

25 2. Dr. Manohar Singh
25 3. Dr. Pramod K Mishra

4" 4. Dr. Arun Kumar Shukla

Question ID : 1034353473
Status : Answered
Chosen Option : 1




Q.7 In the month of April 2021, the Reserve Bank of India (RBI) announced to increase the
maximum end-of-day balance for payment banks to

Ans X 1.33lakh
X 2.35 lakh
< 3.%4 lakh
o 4. 32 lakh

Question ID : 1034353482
Status : Answered
Chosen Option : 2

Q.8 The dancer Kelucharan Mohapatra is famous for the dance of which of the following
states?

Ans 1. Odisha

5 2. West Bengal
< 3. Assam

25 4. Manipur

Question ID : 1034353478
Status : Not Answered
Chosen Option : --

Q.9 Which of the following is a premier organisation of Government of India, which is
responsible for conducting of large-scale sample surveys in diverse fields on various
socio-economic subjects on all-India basis?

Ans X 1.Indian Sample Survey Office
25 2. National Sample and Research Office
«" 3. National Sample Survey Office
< 4. Statistics and Sample Survey Office

Question ID : 1034353484
Status : Answered
Chosen Option : 2

Q.10 As per the Census 2011, what was the percentage of Christian population in India?
Ans X 1.4.5%

o 2.2.3%
% 3.6.6%
X 4.3.4%

Question ID : 1034353472
Status : Not Answered
Chosen Option : --

Q.11 The Insolvency and Bankruptcy Board of India was established in
Ans X 1.2015

o 2.2016
X 3.2017
X 4.2014

Question ID : 1034353490
Status : Answered
Chosen Option : 3




Q.12 Pandit Nikhil Ranjan Banerjee was associated with which of the following musical
instruments?

Ans X 1. Guitar
25 2. Violin
X 3. Cello
" 4. Sitar

Question ID : 1034353479
Status : Not Answered
Chosen Option : --

Q.13 What is the full form of WiMAX?
Ans X 1. Wide Interoperability for Microwave Access

¥ 2. Worldwide Interoperability for Microwave Access
< 3. Worldwide Interconnectivity for Microwave Access

< 4. Wide Interconnectivity for Microwave Access

Question ID : 1034353474
Status : Answered
Chosen Option : 2

Q.14 Till December 2021, in how many editions of the Women’s World Boxing
Championships has Mary Kom won a medal?

Ans o 1. Eight
< 2. Nine
< 3. Four
X 4. Six

Question ID : 1034353492
Status : Not Answered
Chosen Option : --

Q.15 In which of the following years was the Juvenile Justice (Care and Protection of
Children) Act passed?

Ans  # 1.2015

X 2.2012
< 3.2013
X 4.2014
Question ID : 1034353487
Status : Not Answered
Chosen Option : --
Q.16 As per Census 2001, the Indian workforce constitutes of the total population

of the country.
Ans X 1.23.1%

X 2.491%
X 3.291%
o 4.39.1%

Question ID : 1034353486
Status : Not Answered
Chosen Option : --




Q.17 Which of the following is NOT a stringed musical instrument?
Ans X 1.Harp

¥ 2. Ocarina
5 3. Mandolin
75 4.0ud

Question ID : 1034353480
Status : Not Answered
Chosen Option : --

Q.18 Microfinance originated in Bangladesh with the institution of Grameen Bank in

Ans X 1.1982
X 2.1994
o 3.1983
X 4.1995

Question ID : 1034353483
Status : Not Answered
Chosen Option : --

Q.19 The Central Vigilance Commission (CVC) was established in
Ans X 1.1966

o 2.1964
X 3.1967
X 4.1965

Question ID : 1034353489
Status : Not Answered
Chosen Option : --

Q.20 Theravada Buddhism has its strongest presence in which of the following countries?
Ans X 1.Maldives

< 2. Japan
#5 3. China
«# 4. Sri Lanka

Question ID : 1034353481
Status : Answered
Chosen Option : 4

Q.21 Which tribe celebrates Bohada, the famous festival of masks, which is a combination
of dance and drama? It is celebrated during March and April.

Ans X 1. Bhil
5 2. Munda
X 3. Baiga
" 4. Kokna

Question ID : 1034353485
Status : Not Answered
Chosen Option : --




Q.22
Ans

In which of the following years was the Haj Committee Act passed?
21,2001

X 2.2003
& 3.2002
X 4.2004

Question ID : 1034353471
Status : Not Answered
Chosen Option : --

Q.23
Ans

Comprehension:

Read the given paragraph and answer the following questions.

Aravalli Range, also spelled Aravali Range, is a hill system of northern India, running
northeasterly for 350 miles (560 km) through Rajasthan state. Isolated rocky offshoots
continue to just south of Delhi. The series of peaks and ridges, with breadths varying from 6 to
60 miles (10 to 100 km), are generally between 1,000 and 3,000 feet (300 and 900 metres) in
elevation. The system is divided into two sections: the Blank No. 2 ranges, taller
and including Blank No. 1 on Mount Abu, the highest peak in the Aravalli Range
the height of which is nearly Blank No. 4 , and the Blank No. 3 ranges
consisting of three ridges that are discontinuous

SubQuestion No : 23

Which of the following options will fill the Blank No. 3 of the paragraph?

< 1. Sambhar-Bhilwara
«# 2. Sambhar-Khetri

5 3. Sambhar-Kishangarh
< 4. Sambhar-Makrana

Question ID : 1034353496
Status : Answered
Chosen Option : 1

Q.24
Ans

Comprehension:

Read the given paragraph and answer the following questions.

Aravalli Range, also spelled Aravali Range, is a hill system of northern India, running
northeasterly for 350 miles (560 km) through Rajasthan state. Isolated rocky offshoots
continue to just south of Delhi. The series of peaks and ridges, with breadths varying from 6 to
60 miles (10 to 100 km), are generally between 1,000 and 3,000 feet (300 and 900 metres) in
elevation. The system is divided into two sections: the Blank No. 2 ranges, taller
and including Blank No. 1 on Mount Abu, the highest peak in the Aravalli Range
the height of which is nearly Blank No. 4 , and the Blank No. 3 ranges
consisting of three ridges that are discontinuous

SubQuestion No : 24

Which of the following options will fill the Blank No. 2 of the paragraph?

25 1. Sambhar-Udaipur
4" 2. Sambhar-Sirohi
< 3. Sambhar-Pali

< 4. Sambhar-Kota

Question ID : 1034353495
Status : Answered
Chosen Option : 3




Comprehension:
Read the given paragraph and answer the following questions.
Aravalli Range, also spelled Aravali Range, is a hill system of northern India, running
northeasterly for 350 miles (560 km) through Rajasthan state. Isolated rocky offshoots
continue to just south of Delhi. The series of peaks and ridges, with breadths varying from 6 to
60 miles (10 to 100 km), are generally between 1,000 and 3,000 feet (300 and 900 metres) in
elevation. The system is divided into two sections: the Blank No. 2 ranges, taller
and including Blank No. 1 on Mount Abu, the highest peak in the Aravalli Range
the height of which is nearly Blank No. 4 , and the Blank No. 3 ranges
consisting of three ridges that are discontinuous
SubQuestion No : 25

Q.25 Which of the following options should will the Blank No. 4 of the paragraph?

Ans X 1.6,650 feet
" 2. 5,650 feet
X 3.3,650 feet
< 4.4,650 feet

Question ID : 1034353497
Status : Not Answered
Chosen Option : --

Comprehension:
Read the given paragraph and answer the following questions.

Aravalli Range, also spelled Aravali Range, is a hill system of northern India, running
northeasterly for 350 miles (560 km) through Rajasthan state. Isolated rocky offshoots
continue to just south of Delhi. The series of peaks and ridges, with breadths varying from 6 to
60 miles (10 to 100 km), are generally between 1,000 and 3,000 feet (300 and 900 metres) in
elevation. The system is divided into two sections: the __ Blank No. 2 ranges, taller
and including __ Blank No. 1___ on Mount Abu, the highest peak in the Aravalli Range
the height of whichiisnearly  Blank No.4_ ,andthe _ Blank No.3___ ranges
consisting of three ridges that are discontinuous

SubQuestion No : 26
Q.26 Which of the following options will fill the Blank No. 1 of the paragraph?
Ans X 1. Nanda Devi Peak

< 2. Kamet Peak
«" 3. Guru Peak
< 4. Anamudi Peak

Question ID : 1034353494
Status : Answered
Chosen Option : 4

Comprehension:

Read the given paragraph and answer the following questions.

This phylum represents soft-bodied invertebrates usually wholly or partly enclosed in a
calcium carbonate shell secreted by a soft mantle covering the body. Along with the insects
and vertebrates, it is one of the most diverse groups in the animal kingdom, with nearly
100,000 (possibly as many as 150,000) described species. The animals of this phylum are
found in nearly all freshwater and marine environments, and some are found also on land.
SubQuestion No : 27

Q.27 Which of the following classes does NOT belong to the phylum that has been
discussed in the paragraph?

Ans X 1. Gastropoda
< 2. Bivalvia
«# 3. Aphasmidia

25 4. Polyplacophora

Question ID : 1034353501
Status : Not Answered
Ch




Comprehension:
Read the given paragraph and answer the following questions.
This phylum represents soft-bodied invertebrates usually wholly or partly enclosed in a
calcium carbonate shell secreted by a soft mantle covering the body. Along with the insects
and vertebrates, it is one of the most diverse groups in the animal kingdom, with nearly
100,000 (possibly as many as 150,000) described species. The animals of this phylum are
found in nearly all freshwater and marine environments, and some are found also on land.
SubQuestion No : 28

Q.28 The paragraph talks about which of the following phyla?

Ans < 1. Echinoderm

& 2. Annelida
" 3. Mollusca
X 4. Porifera

Question ID : 1034353499
Status : Answered
Chosen Option : 3

Comprehension:

Read the given paragraph and answer the following questions.

This phylum represents soft-bodied invertebrates usually wholly or partly enclosed in a
calcium carbonate shell secreted by a soft mantle covering the body. Along with the insects
and vertebrates, it is one of the most diverse groups in the animal kingdom, with nearly
100,000 (possibly as many as 150,000) described species. The animals of this phylum are
found in nearly all freshwater and marine environments, and some are found also on land.
SubQuestion No : 29

Q.29 Which of the following animals does NOT belong to the phylum that has been
discussed in the paragraph?

Ans  # 1. Leeches
X 2. Snails
5 3. Octopus
4. Squid

Question ID : 1034353502
Status : Not Answered
Chosen Option : --

Comprehension:

Read the given paragraph and answer the following questions.

This phylum represents soft-bodied invertebrates usually wholly or partly enclosed in a
calcium carbonate shell secreted by a soft mantle covering the body. Along with the insects
and vertebrates, it is one of the most diverse groups in the animal kingdom, with nearly
100,000 (possibly as many as 150,000) described species. The animals of this phylum are
found in nearly all freshwater and marine environments, and some are found also on land.
SubQuestion No : 30

Q.30 Which of the following animals belongs to the phylum that has been discussed in the
paragraph?

Ans X 1. Caterpillars
" 2. Gastropods
25 3. Polychaetes
X 4. Corals

Question ID : 1034353500
Status : Not Answered
Chosen Option : --

Section : Language Competency Test




Q.1 Select the most appropriate ANTONYM of the underlined word.
The ship was wrecked to pieces in the storm.
Ans X 1.smashed
X 2. destroyed
< 3. improved
¥ 4. repaired

Question ID : 1034353506
Status : Answered
Chosen Option : 4

Q.2 Select the correct spelling of the underlined word.

The royal family lived in a magnefisent palace.
Ans X 1. magneficient
< 2. magnifisent
" 3. magnificent
5 4. magnificient

Question ID : 1034353510
Status : Answered
Chosen Option : 3

Q.3 Select the correct spelling of the underlined word.
The old begar was shivering with cold.
Ans  # 1. beggar
< 2. beggre
< 3. beger
& 4. begger

Question ID : 1034353509
Status : Answered
Chosen Option : 1

Q.4 Select the most appropriate option to fill in the blank.

| love home-cooked food so | eat out
Ans X 1.whole nine yards

25 2. through thick and thin
«" 3. once in a blue moon

< 4. fair and square

Question ID : 1034353507
Status : Answered
Chosen Option : 3




Q.5 Select the most appropriate synonym of the underlined word.

The teacher was pleased with his rapid progress.
Ans X 1.tardy
< 2. slight
< 3. alert
o 4. swift

Question ID : 1034353505
Status : Answered
Chosen Option : 4

Q.6 Select the option that can be used as a one-word substitute for the underlined group
of words.

My mother gifted me a book on the study of plants.
Ans X 1. Zoology
" 2. Botany
< 3. Geology
< 4. Physics

Question ID : 1034353511
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate option to fill in the blank.

A of cattle was grazing in the fields.
Ans X 1.crew

5 2. band
«" 3. herd

X 4. pack

Question ID : 1034353503
Status : Answered
Chosen Option : 3

Q.8 Select the most appropriate option to fill in the blank.

If you want to make good profits, invest now —
Ans & 1. strike while the iron is hot
25 2. look before you leap
< 3. too many cooks spoil the broth
< 4. don't put all your eggs in one basket

Question ID : 1034353508
Status : Answered
Chosen Option : 1




Q.9 Select the option that can be used as a one-word substitute for the underlined group
of words.

The person supervising during the examination was very strict.
Ans X 1.administrator

< 2. attendant
" 3. invigilator
< 4. attorney

Question ID : 1034353512
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate option to fill in the blank.

Please sit the dining table for lunch.
Ans X 1.in

5 2.0n
< 3.by
o 4. at

Question ID : 1034353504
Status : Answered
Chosen Option : 4

Comprehension:
Read the given passage and answer the questions that follow.

One of the great values of punctuality is that it gives discipline to life. We do things at the
appointed time. This entails a certain amount of sacrifice. It dispels laziness and removes our
‘take-it-easy attitude’. A disciplined person always gets recognition and social acceptance. He
is wanted and appreciated. Therefore, punctuality can make us socially acceptable people.
Another significant merit of punctuality is that it provides ample time to do our work correctly
and properly. Doing things hurriedly or haphazardly can have disastrous consequences.
When we do things in time there is every chance that they end up as fine works.

The virtue of punctuality is said to be the key to success. Look at the great world leaders who
have achieved fame and success. Punctuality was their hallmark. They kept their promises.
Punctuality is a virtue that is appreciated by all.

When individuals are not punctual they cause a lot of inconvenience to others. People have to
wait for them and waste their valuable time. Want of punctuality reveals want of culture and is
discourteous to the person we fail. History is full of cases which show that lack of punctuality
has caused defeat, loss of kihngdom and golden opportunities.

We are not born with the virtue of punctuality. We have to cultivate it painstakingly. Only
constant vigil and practice can implant this virtue. It calls for a great deal of sacrifice. It calls
for courage to root out laziness and the ‘take-it easy attitude’. It demands a disciplined life.
That is why very few individuals have the virtue of punctuality. But, know it for certain that it is
the surest way to success.

SubQuestion No : 11
Q.11 What message does the author want to convey through the passage?
Ans X 1. We should be ready to make sacrifices in life.

25 2. We should do things in a well-planned and organised manner.
< 3. We should be courageous in times of loss and defeat.

" 4. We should cultivate and sustain the virtue of punctuality.

Question ID : 1034353518
Status : Answered
Chosen Option : 4




Q.12
Ans

Comprehension:
Read the given passage and answer the questions that follow.

One of the great values of punctuality is that it gives discipline to life. We do things at the
appointed time. This entails a certain amount of sacrifice. It dispels laziness and removes our
‘take-it-easy attitude’. A disciplined person always gets recognition and social acceptance. He
is wanted and appreciated. Therefore, punctuality can make us socially acceptable people.
Another significant merit of punctuality is that it provides ample time to do our work correctly
and properly. Doing things hurriedly or haphazardly can have disastrous consequences.
When we do things in time there is every chance that they end up as fine works.

The virtue of punctuality is said to be the key to success. Look at the great world leaders who
have achieved fame and success. Punctuality was their hallmark. They kept their promises.
Punctuality is a virtue that is appreciated by all.

When individuals are not punctual they cause a lot of inconvenience to others. People have to
wait for them and waste their valuable time. Want of punctuality reveals want of culture and is
discourteous to the person we fail. History is full of cases which show that lack of punctuality
has caused defeat, loss of kingdom and golden opportunities.

We are not born with the virtue of punctuality. We have to cultivate it painstakingly. Only
constant vigil and practice can implant this virtue. It calls for a great deal of sacrifice. It calls
for courage to root out laziness and the ‘take-it easy attitude’. It demands a disciplined life.
That is why very few individuals have the virtue of punctuality. But, know it for certain that it is
the surest way to success.

SubQuestion No : 12
Those who are NOT punctual:

«" 1. waste others’ time
5 2. shun laziness
< 3. do things in time

< 4. win recognition

Question ID : 1034353514
Status : Answered
Chosen Option : 1

Q.13
Ans

Comprehension:

Read the given passage and answer the questions that follow.

One of the great values of punctuality is that it gives discipline to life. We do things at the
appointed time. This entails a certain amount of sacrifice. It dispels laziness and removes our
‘take-it-easy attitude’. A disciplined person always gets recognition and social acceptance. He
is wanted and appreciated. Therefore, punctuality can make us socially acceptable people.
Another significant merit of punctuality is that it provides ample time to do our work correctly
and properly. Doing things hurriedly or haphazardly can have disastrous consequences.
When we do things in time there is every chance that they end up as fine works.

The virtue of punctuality is said to be the key to success. Look at the great world leaders who
have achieved fame and success. Punctuality was their hallmark. They kept their promises.
Punctuality is a virtue that is appreciated by all.

When individuals are not punctual they cause a lot of inconvenience to others. People have to
wait for them and waste their valuable time. Want of punctuality reveals want of culture and is
discourteous to the person we fail. History is full of cases which show that lack of punctuality
has caused defeat, loss of kingdom and golden opportunities.

We are not born with the virtue of punctuality. We have to cultivate it painstakingly. Only
constant vigil and practice can implant this virtue. It calls for a great deal of sacrifice. It calls
for courage to root out laziness and the ‘take-it easy attitude’. It demands a disciplined life.
That is why very few individuals have the virtue of punctuality. But, know it for certain that it is
the surest way to success.

SubQuestion No : 13
Punctuality does NOT lead to
2 1. discipline

¥ 2. inconvenience
< 3. success

< 4. appreciation

Question ID : 1034353515
Status : Answered
Chosen Option : 2




Q.14
Ans

Comprehension:
Read the given passage and answer the questions that follow.

One of the great values of punctuality is that it gives discipline to life. We do things at the
appointed time. This entails a certain amount of sacrifice. It dispels laziness and removes our
‘take-it-easy attitude’. A disciplined person always gets recognition and social acceptance. He
is wanted and appreciated. Therefore, punctuality can make us socially acceptable people.
Another significant merit of punctuality is that it provides ample time to do our work correctly
and properly. Doing things hurriedly or haphazardly can have disastrous consequences.
When we do things in time there is every chance that they end up as fine works.

The virtue of punctuality is said to be the key to success. Look at the great world leaders who
have achieved fame and success. Punctuality was their hallmark. They kept their promises.
Punctuality is a virtue that is appreciated by all.

When individuals are not punctual they cause a lot of inconvenience to others. People have to
wait for them and waste their valuable time. Want of punctuality reveals want of culture and is
discourteous to the person we fail. History is full of cases which show that lack of punctuality
has caused defeat, loss of kingdom and golden opportunities.

We are not born with the virtue of punctuality. We have to cultivate it painstakingly. Only
constant vigil and practice can implant this virtue. It calls for a great deal of sacrifice. It calls
for courage to root out laziness and the ‘take-it easy attitude’. It demands a disciplined life.
That is why very few individuals have the virtue of punctuality. But, know it for certain that it is
the surest way to success.

SubQuestion No : 14
According to the passage, the quality of punctuality
< 1.is inborn in every person

5 2.is present in most people
< 3. can be easily cultivated

" 4. needs sincere efforts to develop

Question ID : 1034353516
Status : Answered
Chosen Option : 4

Q.15

Ans

Comprehension:
Read the given passage and answer the questions that follow.

One of the great values of punctuality is that it gives discipline to life. We do things at the
appointed time. This entails a certain amount of sacrifice. It dispels laziness and removes our
‘take-it-easy attitude’. A disciplined person always gets recognition and social acceptance. He
is wanted and appreciated. Therefore, punctuality can make us socially acceptable people.
Another significant merit of punctuality is that it provides ample time to do our work correctly
and properly. Doing things hurriedly or haphazardly can have disastrous consequences.
When we do things in time there is every chance that they end up as fine works.

The virtue of punctuality is said to be the key to success. Look at the great world leaders who
have achieved fame and success. Punctuality was their hallmark. They kept their promises.
Punctuality is a virtue that is appreciated by all.

When individuals are not punctual they cause a lot of inconvenience to others. People have to
wait for them and waste their valuable time. Want of punctuality reveals want of culture and is
discourteous to the person we fail. History is full of cases which show that lack of punctuality
has caused defeat, loss of kingdom and golden opportunities.

We are not born with the virtue of punctuality. We have to cultivate it painstakingly. Only
constant vigil and practice can implant this virtue. It calls for a great deal of sacrifice. It calls
for courage to root out laziness and the ‘take-it easy attitude’. It demands a disciplined life.
That is why very few individuals have the virtue of punctuality. But, know it for certain that it is
the surest way to success.

SubQuestion No : 15

‘Want of punctuality reveals want of culture and is discourteous to the person we fail.’
Here ‘want’ means:

& 1. demand
5 2. desire
«" 3. lack
5 4. need

Question ID : 1034353517
Status : Answered
Chosen Option : 2




Q.16 791 § § dgd " BT PI—|T I Fafed T8 §-2
Ans X 1. g1 - P

o 2.9 —|Tg

X 3. e — forar

X 4. AR - 4R

Question ID : 1034353525
Status : Answered
Chosen Option : 1

Q.17 fmar B 3R 701 FB Wi T F 312f wape FA & foY walfaa dApifa 2
Ans X 1.3 9 g @b feied! gt BT Felt

o 2. 30 % 3R et

< 3. 7T 7 S 3 et

75 4. 3TUSTA TTRY BAdhd ST

Question ID : 1034353524
Status : Answered
Chosen Option : 4

Q.18 = # § ‘Bfer 1 31 78l 8-
Ans X' 1.3%@
X 2. %
o 3. T P 3R B9
X 4. IR g A <er g

Question ID : 1034353526
Status : Answered
Chosen Option : 3

Q.19 = # § ‘B &I 44fd §-
Ans X 1. &

o 2. 75

X 3.gdfa

X 4. gty

Question ID : 1034353527
Status : Answered
Chosen Option : 2

Q.20 <3nfieq & Wi foede 2--
Ans X1 3+ €e

7< 2. 3t + Sem

o 3. 30 + Se

X 4.3 + SR

Question ID : 1034353521
Status : Answered
Chosen Option : 3




Q.21 Wrdes A -
Ans X 1. Y@RIMT THT
X 2. fegwmm

& 3. 9gdife IHH

X 4. g I

Question ID : 1034353522
Status : Not Answered
Chosen Option : --

Q.22 3 3 316 Y Uiet Wi vl 7T § 37
3T e ¥ T quf
Ans X 1. YT T garen
X 2. U I 9T
X 3. UT BT geepl
o 4. AT

& &

Question ID : 1034353523
Status : Answered
Chosen Option : 4

Q.23 Ve T faew B-
Ans X 1. 3m@g
X 2.9
o 3. 30
X 4.9

Question ID : 1034353528
Status : Answered
Chosen Option : 3

Q.24 gruRvr fa9q F faeg a1’ araier & &g T 2res -

Ans X 1. 3
o 2. 3041
X 3. 3Ridurfas
X 4. 3 TS

Question ID : 1034353519
Status : Answered
Chosen Option : 1

Q.25 S o TS 2T, Wi A% 6 9 |
3mit & wangs fiea, S drar gifann
IR QR F AP 3-

Ans X 1. 3S&MT ABR

/< 2. U3E ABR
o 3. AfaerifaRT seeR

2 4. 3UHT bR

Question ID : 1034353520
Status : Answered
Chosen Option : 3




Comprehension:

fa Mg Terier Pl Ufey 3R 3HEB d1e gB T gl P IR Aoyl

HeGA FHTST Bl YT PR dTell H e T ATH Hew@qul 21 TS A fBHT BT & gam & dar
TopeiT OR 3ITET oY T PEBRI T TR B bl Lrferd I@d &1 37eT TR U, Hall, FETgfd 3R
TdfEafdiaT &ml T B aroft ¥ ufds fror, w F fGT IR v sermdor o1 die smder §1 STel ve
3R 37 ATHTIST @l BT 3rIHa T T8T gart 3R 3ufdeardt 3R Tad ATIdTsif &Y ¥ HA BT
TR Y AT | et F B0 359 I fRg-IHeTi ! ol IAH-gf I <@d | 376 fGaR e a1 31
fArfor A § e €, W T H NaraeuT qaT WeA-Hed B Tgftt B Y| AT qT uTfie & 7
THLIRATE, Hfd-GuTT T R, fEg-qafem ear 3iR Feait ufes Wiet 37esT w2 3a1 81 faww aRfeefaat
H 30 AT Y 3fafAfEd 2rfert By ST qT ves wafed Qifart & 31f%de W fIear gRT wfai-raT Bt
ferermet geofe  wRftd & | 37eb farRY # eogl Y Fehrofar aT et 7 &ff 1 2rarfeeal § weaferd
7 STfat oY et & o 81 Y 3R IROT ATes I fiiedt Riifds ek Y avg & e 4 WY sirfa-mem
% fafae qeqa W HHeR TER T e F THTT I USTTd B STT P Frel-a1 32f B WY 7€ faem

TRt T THTT, ST, SHHRRY qiT oIS 2RI S % gRT SHAPTS R 3maTRa 7€ JuTeT-
e TITUd g8 |

SubQuestion No : 26
Q.26 9/ 31 BN § 7E 3R -
Ans X 1. T AP TaLAT BT T
X 2. Tt ufdd $eaR Hidkd BT @Y
2 3. 7 YoT 3 Ry &Y v
o 4. TET-HEA B Ugid W

Question ID : 1034353533
Status : Answered
Chosen Option : 4

Comprehension:

faq Mg merier @1 ufey 3R 3Wdb g1e v M gl & IR QeI

HIGII HATST Bl JHTIAd BRA ATl W ATTeh T ATH w0l 81 T e fobHT T feet gay feT deim
et TR 31TETd {3 AT HEBRT BT T B Bl AfRT T&d &1 37T 39TR I, H3ft, Ferfa 3k
Tfedfeia e e Y arof ¥ ufds fssT, 1 & T GHR Td 3Teraador &1 i 3maer &1 T8l U
3R IR TSI gt T 3Ha fIaT gl gast 3R 3iwfdears 3R Tefd HT=AdT3f &Y g¥ e b
T Y BT | et H B0 35e I fRg-JHTHA] Pl -5 I &d | 37 (e PBeR dell 317
frfor Aol & T €, g TS H 3RaguT qaT Wed-He P Tgf BH 6| AT ot Uifiies & 7
TpLaRaTE, Hfd-goTT T foRTY, fEg-qafam gesar 3iR Feat ufds Hiert 37eT v Ta1 21w uRfeefaal
H 3R WS BT AR 2rfery Y ST dRiT Yeh wafed 2rfery 6 31f¥dcd § faeay gIRT Hfawi-HTaT o
ferermet geofa o wRftd & | 37eb farRY # el ot Hebiofar T et 7 &ff 1 2rarfeeal § weafed

T STfat T Surt & o 81 T 37IR IR0 AT 3 el aii{ds ek Pl a¥g & A = WY S{Tfd-we
F fafa Teqgal R HHeR TER T % & THTT I USTTd B ST P Frei-a1e 42f B WY 7€ faem

TR T FHTT, ST, SAFRT T Yo THE AMRIRE 9 & RT Siifdears TR 3R T8 THe-
eI T g8 |

SubQuestion No : 27

Q.27 7% aFF & fawa ¥ 9T 78 &-

Ans X 1. 3TH 3aEEYA 3R TBTHEAT BT T B B

o 2. Tawe aRfEfaal # $eav & T IR AT Pl 3TTAHATRT & 3cei WR 3714 o 1T
X 3. erarfeeal I Set-gparel! Qg STl & 3cei o iy a8 IRT &id & |

X 4. amTfoies STfeat & foig 3T 3UaR W, H3t 31 wdfedfeiad o

Question ID : 1034353534
Status : Answered
Chosen Option : 4




Comprehension:

fa Mg Terier @1 ufey 3R 3HE d1e gB T gl P IR QeI

AT FHTST Bl JHTIId PR dTell | e T ATH Hew@qul 21 T A fBHT P & ga & dar
bl WR SITET oY AT PEBRI T T B bl Lrferd I &1 37eT TR U, Hall, FETgfd 3R
TdfEafiaT &ml T B aroit ¥ ufds fror, w F AT IR T sermdor o1 dig smder d1 STeT vh
3R 37 AT @ BT 3rIHa T T8T gart 3R 3ufdearst 3R Tad ATIdTsif &Y ¥ F BT
TN Y 3BT | et & B0 359 I fRg-THeT ] ol TAH-gf I <@d | 376 fGaR ek a1 37
fArfor A & e €, g T H NaaeuT qaT WeA-Hed B Tgftt B Y| AT qT HTfie & 7
THLIRATE, Hfd-GoTT T R, fEg-qafem Tear 3iR Feaht afes Wiert 37eeT v 3a1 81 faww aRfeefaat
H 30 AT Y 3fafAfEd 2rfert By ST qT ves Fafed Qifart & 31fided W fdear gRT wiai-wraT Bt
fererrer g o werrfud @ | 373 faamy # @el i Hebrofar a1 gfaet 7 &1 2rarfedal & veafcid
7 Sft oY et & o 81 Y 37U IROT AT I fiiedt Riifes ek Y avg & e 4 WY sirfa-mem
% fafa Teqai W HHeR TER 1| A% F THTT I USTTE B ST P Frel-a1 42f B WY 7€ faem
TRt T THTT, ST, SHHRRY qofT oIS MR S & gRT SHAPTS R 3maTRa 7€ JuTel-
el RITUd g8 |

SubQuestion No : 28
Q.28 e 3R HAR ¥ U B A fba AmIfSie wam o1 farv fasar?
Ans X 1_3@1%—413
X 2.t e
X 3. UdbeRae
o 4. ST geT

Question ID : 1034353530
Status : Answered
Chosen Option : 4

Comprehension:

T Mg Terier @1 ufey 3R 3WE 16 gB T yedl P IR ATl

HGIA FHTST Bl JHTIId B a1l | e T AT Hew@ql 21 TS A {1 BT & gay & qar
et TR 31Ted {3 AT HEBRT BT T B Bl AfRT TEd &1 37T 39AR U, H3fl, Ferfa 3k
Tifedfeia e e Y aroft ¥ ufds fssT, W] & T GHR Td 3Teyador 1 i 3maer &1 578l U
3R 3R TSI g T 3Hd f3haT gl gast 3R siwfdears 3R Tefd HT=AdT3l &Y g¥ e b
T Y BT | et H B0 35e I fRg-FHTHA] Pl -5 I &d | 37 (R PBeR dell 31
frfor dalt & T €, g TS W 3RasuT ql Wed-He Bl Tgf BH 6| ARSI ot Uifiies &t 7
THLARATE, Hfd-goTT T foRTY, fEg-qarfam gasar 3iR Feait ufds Wiert 3eT v Ta1 81w uRfedfaal
H 3R WS BT AR 2rfery Y ST dRiT Ueh wdfed 2rfery 6 311 § fa2ay gIRT Hiawi-HTaT o
farermet geofa f wRftd & | 37eb farRY # el ot Hebiofar T et 7 &ff 1 2rarfeeal | weafeid

T STfat @t Surt & o 81 T 37IR IR0 AT 3 el a-ifes ek bl a¥g & A = WY S{Tfd-ve
& fafdy Teq3il W BHH YgR [BATI A P TTa I USTE DT ST &b HIR-TS %2r Bl Y 8
TR T AT, ST, SAMRT 7T Yo THE ARG 9/ & gRT Siifdedas R 3R T8 THe-
EESIRSIECEET

SubQuestion No : 29
Q.29 i ¥ & gfz #1 vata 7E -
Ans o 1. fager

X 2. gl

X 3. 3uH

X 4.7

Question ID : 1034353532
Status : Answered
Chosen Option : 4




Comprehension:

fa Mg Terier @1 ufey 3R 3HE d1e B M oAl P IR Aoyl

AT FHTST Bl JHTII B dTell H e T ATH Hew@qol 21 T A fBHT BT & ga & dar
et TR 31T {3 AT HERBRT BT T B Bl 2AfRT TEd &1 37T 39AR 9, H3f, FErpifa 3k
TdfEafiaT &ml T B aroft ¥ ufds fror, w F fGT IR T sermdor o1 dig mder #1 STeT ve
3R 3L AT @l BT 31T T T8T gart 3R 3ufdearst 3R Tad ATIdTsif &Y ¥ FA BT
AT Mt fobaT| WeHTd ¥ 3R 35 d fRg-qaeHH! &l FHH-g(< | STd &1 375 faaR BaR qelT 37
frfor Hal & T €, g TS H 37RasUT qeil Wed-He $f Tgfl BH 6| ARSI defT Hifics & 7
THLARATE, Hfd-GuTT T R, feg-qafem gesar 3iR Feait afds Hiet 37eeT v 3a1 81 faww aRfeefaat
H 30 AT Y fafAfEd 2rfert By ST qT ves Fafed Qifart & 31f&ded W fIear gRT wfai-wraT Bt
ferermet geofe  wRftd & | 37eb famrRY # ehel Y Hehrofar aT et 7 &ff 1 2rarfeeal § weaferd
7 Sft oY St & o 81 Y 3R IROT AT I fiiedt Riifes ek Y avg & A 4 WY sirfa-mem
% fafa Teqal W HHeR TER faT| A% & THTT I USTTd B STT P A1el-H1e 42f B WY 7€ faem
TRt T THTT, ST, SHHRRY qiT oIS 2RI 91 &6 gRT SHAPTS R 3maTRa 7€ JuTeT-
T TTIOd EE |

SubQuestion No : 30
Q.30 1 F wuTST B 7 ¥ A fpw Bu A wnfaa 7€) fesam
Ans X 1. IR 9 F GRT SHTABIUTSI BT 3T SIR
X 2. gAY B feRTY B
o 3. TRg-1fIH A=y T geTaT <a
< 4. FHTAT BT 302 SR

Question ID : 1034353531
Status : Answered
Chosen Option : 2

Section : Basic Knowledge of Computer Operation

Q.1 Which of the following is/are the characteristics of Windows 10 operating system?
(i)Real-time
(ii)Batch processing
(iii)Multitasking
(iv) Multiprogramming

Ans X 1. (i) and (iv)
& 2. (iii) and (iv)
25 3. (i), (ii) and (iii)
X 4. (i) and (iv)

Question ID : 1034353547
Status : Answered
Chosen Option : 3

Q.2 Which of the following statements is/are true?

(i) CD-ROM is an optical disk that can only be read and not written on.
(ii) Both, CD-R and CD-RW are optical disks.

Ans X 1. Neither (i) nor (i)
25 2. Only (ii)
25 3. Only (i)
" 4. Both (i) and (ii)

Question ID : 1034353540
Status : Answered
Chosen Option : 4




Q.3 Which of the following statements about FAT is FALSE?
Ans X 1.In a FAT file system, the name must start with either a letter or a number.

«¥ 2. In a FAT file system, the name can use both, forward slash (/) and backward slash
(\).

< 3. In a FAT file system, all filenames must be created with the ASCII character set.

< 4. FAT uses the traditional 8.3 file naming convention.

Question ID : 1034353541
Status : Not Answered
Chosen Option : --

Q.4 Offences like tampering with computer source documents, hacking a computer
system and publishing information which is obscene in electronic form are defined in
of the Indian IT Act, 2000.

Ans X 1.Chapter VIII
«” 2. Chapter XI
<" 3. Chapter Il
< 4. Chapter IX

Question ID : 1034353550
Status : Not Answered
Chosen Option : --

Q.5 Which of the following CPU registers contains the address of the next instruction to be
executed?

Ans X 1. Memory buffer register
< 2. Memory address register
«# 3. Program counter

< 4. Accumulator

Question ID : 1034353546
Status : Answered
Chosen Option : 3

Q.6 What will be the storage capacity of the main memory if it uses 20 address lines and
the size of each block is two bytes?

Ans X 1.4MB
X 2.2GB
& 3.1MB
" 4.2 MB

Question ID : 1034353536
Status : Answered
Chosen Option : 3




Q.7 Which of the following is/are types of interaction in e-Governance?

(i) G2G
(ii) G2C
(iii) G2B
Ans X 1. (i) and (i)
2 2. (i) and (iii)
o 3. (i), (ii) and (iii)
X 4. Only (iii)

Question ID : 1034353552
Status : Answered
Chosen Option : 3

Q.8 Identify whether the given statements are true or false.

(i) CD-R is a Write Once-Read Many (WORM) disk.
(ii) CD-RW allows data to be written, erased and re-written.

Ans X 1. (i) - True, (i) — False
& 2. (i) — True, (ii) — True
25 3. (i) — False, (ii) — False
X 4. (i) - False, (i) — True

Question ID : 1034353539
Status : Answered
Chosen Option : 2

Q.9 Which of the following uses infrared or radio signal to control the movement of the
cursor?

Ans X 1. Wired mouse
25 2. Mechanical mouse
< 3. Wired QWERTY keyboard

«" 4. Cordless mouse

Question ID : 1034353544
Status : Answered
Chosen Option : 4

Q.10 Which of the following statements about information kiosks is/are FALSE?

(i) An information kiosk is a computer-like device designed to provide certain
information to people in public places.

(ii) Non-interactive kiosks are passive systems typically used for advertising in digital
signage systems.

Ans X 1.0nly (i)
25 2. Only (ii)
< 3. Both (i) and (i)
«" 4. Neither (i) nor (ii)

Question ID : 1034353556
Status : Answered
Chosen Option : 4




Q.11 Which of the following statements is/are FALSE?

(I) Android is an open-source operating system for mobile device.
(ii) iOS mobile operating system was developed by Microsoft.

Ans X 1.Both (i) and (ii)
25 2. Neither (i) nor (ii)
25 3. Only (i)
& 4. Only (ii)

Question ID : 1034353554
Status : Answered
Chosen Option : 1

Q.12 Which of the following categories of RAM need/s continuous refreshing?

(i). DRAM
(ii).SDRAM

Ans X 1. Neither (i) nor (ii)
7< 2. Only (i)
& 3. Both (i) and (ii)
25 4. Only (i)

Question ID : 1034353537
Status : Answered
Chosen Option : 2

Q.13 In which of the following kinds of keyboard do both the M and L keys appear in the
same line, with the difference being that the L key appears to the left of the M key?

()AZERTY
(i) QWERTY

Ans X 1. Neither (i) nor (i)
25 2. Only (ii)
" 3. Only (i)
25 4. Both (i) and (ii)

Question ID : 1034353543
Status : Answered
Chosen Option : 3

Q.14 If you have 50 slides in your MS-PowerPoint presentation file and you want to start a
slide show from the tenth slide, then you need to select the tenth slide and press
to start the slide show from the selected slide.

Ans X 1.Shift + F3
& 2. Shift + F5
X 3.Ctrl+F3
X 4.Ctrl+F5

Question ID : 1034353549
Status : Answered
Chosen Option : 3




Q.15 Which of the following statements is/are true?

(i) GSM mobiles support transmission of both, data and voice together.
(ii) Customer information in CDMA mobiles is stored in the headset or phone.

Ans X 1.0nly (i)

25 2. Only (ii)

& 3. Both (i) and (ii)
25 4. Neither (i) nor (ii)

Question ID : 1034353553
Status : Answered
Chosen Option : 1

Q.16 Which of the following software is used to translate high-level language source codes
into machine codes?

Ans & 1. Compiler
< 2. Spyware
25 3. Assembler
5 4. Adware

Question ID : 1034353545
Status : Answered
Chosen Option : 1

Q.17 FAT partitions are limited in size to a maximum of under Windows NT and

in MS-DOS.
Ans " 1.4GB,2GB

X 2.2GB, 4GB
/< 3.6GB, 4GB
/X 4.8GB,4GB

Question ID : 1034353542
Status : Not Answered
Chosen Option : --

Q.18 Which of the following statements is/are FALSE?

(i) A digital signature preserves the integrity of a message.
(ii) A digital signature does not provide non-repudiation.

Ans X 1. Neither (i) nor (i)
« 2. Only (ii)
< 3. Both (i) and (i)
25 4. Only (i)

Question ID : 1034353551
Status : Answered
Chosen Option : 2




Q.19 Identify whether the given statements are true or false.

(i) SDRAM is known as Synchronous DRAM, and it is faster than the general DRAM.
(ii) SRAM is faster than DRAM, but it requires continuous refreshing.

Ans X 1. (i) - False, (i) — True
o 2. () — True, (i) — False
25 3. (i) = True, (i) — True
25 4. (i) — False, (ii) — False

Question ID : 1034353538
Status : Answered
Chosen Option : 2

Q.20 Which of the following statements related to the Linux operating system is FALSE?

(i) It is an open-source operating system.
(ii) It can be characterised as both, multitasking and multiuser operating system.

Ans X 1. Only (i)
25 2. Both (i) and (ii)
25 3. 0nly (i)
«" 4. Neither (i) nor (ii)

Question ID : 1034353548
Status : Answered
Chosen Option : 2

Q.21 Which of the following is/are true with respect to information kiosks?

(i) It has limited functionality.
(i) It is remote controlled.

Ans X 1. Only (ii)
& 2. Both (i) and (ii)
2< 3. Only (i)
5 4. Neither (i) nor (ii)

Question ID : 1034353555
Status : Answered
Chosen Option : 3

Q.22 Identify whether the given statements are true or false.

(i) The capability of a computer to perform different kinds of works with the same
accuracy and efficiency is termed as ‘diligence’.

(ii) The versatility property ensures that a computer does not feel any fatigue or lack of
concentration.

Ans X 1. (i) - False, (ii) — True
X 2. (i) - True, (ii) - True
< 3. (i) — True, (ii) — False
o 4. (i) — False, (ii) — False

Question ID : 1034353535
Status : Answered
Chosen Option : 3




Comprehension:

Questions are based on the given sample document created in Microsoft Word 2016. Read
this document carefully to observe different categories of Word’s features applied over its
different portions and accordingly choose the most suitable options for the following
questions.

The Internet carries a vast range of information resources and services,
such as the inter-linked hypertext documents and applications
of the World Wide Web (WWW, in short W?), electronic mail,

telephony, and file sharing.

The origins of the Internet date back to the development of
packet switching and research commissioned by the United States
Department of Defense in the 1960s to enable time-sharing of
computers. The primary precursor network, the ARPANET, initially
served as a backbone for interconnection of regional academic and
military netweorks in the 1970s,

The funding of the National Science Foundation Network as
a new backbone in the 1980s, as well as private funding for other
commercial extensions, led to worldwide participation in the
development of new networking technologies, and the merger of
many networks.

SubQuestion No : 23
Q.23 How many paragraphs in the given sample document contain/s ‘hanging’ indentation?
Ans X 1.Zero

5 2. Two
75 3. Three
«" 4. One

Question ID : 1034353560
Status : Answered
Chosen Option : 1




Comprehension:

Questions are based on the given sample document created in Microsoft Word 2016. Read
this document carefully to observe different categories of Word’s features applied over its
different portions and accordingly choose the most suitable options for the following
questions.

The Internet carries a vast range of information resources and services,
such as the inter-linked hypertext documents and applications
of the World Wide Web (WWW, in short W?), electronic mail,

telephony, and file sharing.

The origins of the Internet date back to the development of
packet switching and research commissioned by the United States
Department of Defense in the 1960s to enable time-sharing of
computers. The primary precursor network, the ARPANET, initially
served as a backbone for interconnection of regional academic and
military netweorks in the 1970s,

The funding of the National Science Foundation Network as
a new backbone in the 1980s, as well as private funding for other
commercial extensions, led to worldwide participation in the
development of new networking technologies, and the merger of
many networks.

SubQuestion No : 24

Q.24 The first paragraph in the sample document has double-line spacing. What is the
keyboard shortcut to create double-line spacing in an MS-Word document?

Ans X 1.Ctrl+D
X 2. At+2
& 3.Ctrl +2
X 4.Alt+D

Question ID : 1034353558
Status : Answered
Chosen Option : 3




Comprehension:

Questions are based on the given sample document created in Microsoft Word 2016. Read
this document carefully to observe different categories of Word’s features applied over its
different portions and accordingly choose the most suitable options for the following
questions.

The Internet carries a vast range of information resources and services,
such as the inter-linked hypertext documents and applications
of the World Wide Web (WWW, in short W?), electronic mail,

telephony, and file sharing.

The origins of the Internet date back to the development of
packet switching and research commissioned by the United States
Department of Defense in the 1960s to enable time-sharing of
computers. The primary precursor network, the ARPANET, initially
served as a backbone for interconnection of regional academic and
military netweorks in the 1970s,

The funding of the National Science Foundation Network as
a new backbone in the 1980s, as well as private funding for other
commercial extensions, led to worldwide participation in the
development of new networking technologies, and the merger of
many networks.

SubQuestion No : 25
Q.25 How many paragraphs in the given sample document contain/s ‘first line’ indentation?
Ans 1. Two

X 2. Zero
75 3.0ne
75 4. Three

Question ID : 1034353561
Status : Answered
Chosen Option : 1




Comprehension:

Questions are based on the given sample document created in Microsoft Word 2016. Read
this document carefully to observe different categories of Word’s features applied over its
different portions and accordingly choose the most suitable options for the following
questions.

The Internet carries a vast range of information resources and services,
such as the inter-linked hypertext documents and applications
of the World Wide Web (WWW, in short W?), electronic mail,

telephony, and file sharing.

The origins of the Internet date back to the development of
packet switching and research commissioned by the United States
Department of Defense in the 1960s to enable time-sharing of
computers. The primary precursor network, the ARPANET, initially
served as a backbone for interconnection of regional academic and
military netweorks in the 1970s,

The funding of the National Science Foundation Network as
a new backbone in the 1980s, as well as private funding for other
commercial extensions, led to worldwide participation in the
development of new networking technologies, and the merger of
many networks.

SubQuestion No : 26

Q.26 The font of ‘National Science’ in the last paragraph of the given sample document is
larger in size than the other words. What is the keyboard shortcut to increase the font
size of a selected piece of text in an MS-Word document?

Ans X 1.Alt+ Shift +]
X 2. Alt+]
X 3. Ctrl + Shift + ]
o 4.Ctrl +]

Question ID : 1034353559

Status : Answered

Chosen Option : 3




Comprehension:

Questions are based on the given sample worksheet created in Microsoft Excel 2016. Read
this worksheet carefully and accordingly choose the most suitable options for the following

questions.
A B C D E
1 10 50
2 20 40
3 30
4 20 40
5 10 50

SubQuestion No : 27

Q.27 What will be the result of the MS-Excel formula ‘=CEILING(E5,100)’ over the sample

Ans

worksheet?

X 1.40

X 2.50
& 3.100

X 4.0

Question ID : 1034353566

Status : Not Answered

Chosen Option : --

Comprehension:

Questions are based on the given sample worksheet created in Microsoft Excel 2016. Read
this worksheet carefully and accordingly choose the most suitable options for the following
questions.

A B C D E
1 10 50
2 20 40
2 30
4 20 40
o 10 50

SubQuestion No : 28

Q.28 What is the relative address of the cell containing 30?

Ans

& 1.C3
< 2.8C$3
X 3.$38C
X 4.8C83

Question ID : 1034353564

Status : Answered

Chosen Option : 2




Comprehension:

Questions are based on the given sample worksheet created in Microsoft Excel 2016. Read
this worksheet carefully and accordingly choose the most suitable options for the following

questions.

A B C D E
1 10 50
2 20 40
2 30
4 20 40
< 10 50

SubQuestion No : 29

Q.29 What will be the result of the MS-Excel formula ‘=AVERAGE(B2:D4)’ over the sample
worksheet?

Ans X 1.0
& 2.30
X 3.16.67
< 4. Excel error

Question ID : 1034353563
Status : Answered
Chosen Option : 2

Comprehension:

Questions are based on the given sample worksheet created in Microsoft Excel 2016. Read
this worksheet carefully and accordingly choose the most suitable options for the following

questions.
A B C D E
1 10 50
Z 20 40
3 30
4 20 40
5 10 50

SubQuestion No : 30
Q.30 What will happen if you select the cell range B2:D4 and click on ‘AutoSum’?
Ans X 1. It will give 150 as the result

" 2. It will display 40, 30, and 80 in the cells B5, C5, and D5, respectively.
< 3. It will delete the contents of all cells in the range.

25 4. It will not do anything.

Question ID : 1034353565
Status : Answered
Chosen Option : 1
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